Restar de Ceros (C)
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Halle cada diferencia.

1000 10000
- 485 -9031
1000 10000
- 595 - 5879
10000 1000
- 8353 -441
1000 1000
-39 -733
1000 1000
-973 -53
1000 1000
- 330 - 345
1000 10000
- 841 -5626
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1000
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- 9582
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10000
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Restar de Ceros (C) Respuestas

10000

- 3500

6500

10000

- 6522

3478

10000

- 8074

1926

1000

991

10000
-99

9901

1000

-136

864

10000

-9033

967

Halle cada diferencia.

1000 10000
- 485 -9031
515 969
1000 10000
- 595 - 5879
405 4121
10000 1000
- 8353 -441
1647 559
1000 1000
-39 -733
961 267
1000 1000
-973 -53
27 947
1000 1000
- 330 - 345
670 655
1000 10000
- 841 -5626
159 4374
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- 140

860

10000

- 8383

1617

1000

- 486
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10000
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